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Test Chapter 5 T.Marks 30
Q No,1 MCQs Tick the correct option. 7x1=7 LI 2erss My PSPy

The set {xIxéWax < 101} is;

bl {xixeWax < 101}

a | Finite set & (Sb* ‘ b ‘ Null set U6 ‘ c ‘ Sub set ;{‘3; ‘ d | Infinite set i«{d‘[’;‘/;;
2 | If Aand Bare disjoint sets, then AUB1s equal to; x4 AUBY %&(J)‘y;f B sAJ
a | B b | A ¢ | BUA d 9
3 AsetQ={§|a,b EZ/\biO}iscalledasetof; -Lgt'ﬂr(»"—: Q={§|a,b EZ/\biO}
a Natural number :Uﬁl&uj b | Rational number u“}’ 4 ¢ | Irrational number /,,-‘ d | Whole number }!MJI
314l Sl Pl
4 | Power set of an empty set is ; -‘ab‘ﬂ&{u.lﬁ:{dlé
a 0 b | {a) c| {0} d[{9,a)
5 | A sethaving only one element is called; -LLL”M:?UCH{!J/JJ?;{
a Singleton set .*{Cg b | power set x| ¢ | Null set exdi d | sub set :;;8;
6 AsetQ={%l |a,b EZAb;tO}iscalledasetof; -9?&{;{ Q={§ |a,b EZ/\b;#O}
a | Whole number JU"J[ b | Rational number J” L ¢ | Irrational number /;’ d | Natural number 1|M&u§
31isl sl Pt
7 | A fractionin which the degree of numerator is greater or equal to the degree of denominator is called ;
QW nf = SIS F s S i
a | Proper fraction / =2l b | Algebraicrelation /'4 / ¢ | Improper fraction /:‘ d | AnEquation <lsls
JL;] / =2l
QNo,2 Write short answers ; 7x2=14 _“é e, /;,' Laﬂlr’é’%)
i | 1tX={1,4,79},Y ={2,4,59} Then find YUX ; -u:/’/()’“‘YUX?nX ={1,4,7,9},Y = {2,4,5,9},/1
i If L ={a,b,c}, M = {3,4} then find two binary relations of LxM ; -éf)’”byél’fuﬁLxM vl ={ab,c},M= {3,4}/’7
iii | Findthe sets X,and Y If xxy={(a, ), (b, a), (c,a),(d,a)}; N b Y i X
iv Define an One — One function. -é&@}&d‘lﬁd!‘d!
v | 1f A={0,2,4} and B = {—1,3 } ,ThenFind A X B; -é,»,l’f AXB izB ={-13} s A4 =024}/

vi

It X = {1,479} and Y = {2,4,5,9}, Then find XUY;

ek XUYIRY = {2,459} 4 X = {1,4,7,9}/

vii

ifL = {a,b,c} thenfind L X L;

gk LXL Inl = {a,b,c})

QNo 3

a.If U={1,2,3,...20},x={1,3,5,7,9,15,18,20}, Y={1,3,5 ....17} ,Then prove that

Y-X=YnX°

e dd

ZEY-X=YNX® Ix v={1,3,5..17} »x={1,3,57,9,1518,20} - U={1,2,3,..20}10

b..If U={1,2,3,4,5,6,7,8,9,10} ,A={1,3,5,7,9},B={2,3,5,7} ,Then prove that, (AUB)¢ = A N

BC

S (AUB)C =

U={1,2,3,4,5,6,7,8,9,10} /1.3

A°N B¢ Jx B={2,3,57} »A={135,79} -«




